PL MAT 2.r. šp.   Meno:                               Precvič si sčítanie a odčítanie čísel v obore do 10
[image: https://files.liveworksheets.com/def_files/2020/4/22/4222102336338/4222102336338001.jpg]
[image: https://files.liveworksheets.com/def_files/2020/4/22/4222102336338/4222102336338001.jpg][image: https://files.liveworksheets.com/def_files/2020/4/22/4221623063987/4221623063987001.jpg][image: https://files.liveworksheets.com/def_files/2020/4/22/4221623063987/4221623063987001.jpg][image: https://files.liveworksheets.com/def_files/2020/4/22/4222102336338/4222102336338001.jpg][image: https://files.liveworksheets.com/def_files/2020/4/22/4221623063987/4221623063987001.jpg]
















[bookmark: _GoBack]
image1.jpeg
'::\\!
| g
7

D
+2

o—o—?—d—o—o—o——-o—o—o—o
U112 84 56 78 9

1

%

w@’

10-5=]
3+5=]
1+5=
2+5=]
9-5=
0+5=]
6-5=]
4+5=]
8-5=[]
5-5=[]
5+5=]
5-0=[]

1+5-4=]
2+3-5=]
0+5-4=]
4+4-5=]
3+5-4=]
7-4+5=]
4+3-5=]
8-4+5=]
7+3-5=
7-7+5=]
4+5-3=]
2+5-4=[]

10-2-5=C
6-5-1=[]
7+1-5=[]
9+1-5=[]
4+2-5=[]
5-5+4=]
4+2-5=[]
8-5+4=]
7+2-5=]
7-5+3=[]
6-6+5=]
1+5+4 =]




image2.jpeg
+2

AN

+2

4

8-4-4=
1+4+4=]
4-4+3=]
2+4+4=]
7-4+3=[
3+2-4=[]
1+3-4=
9-4+1=
0+2+4=]
7-3+4=]
6+4-3=
4-3+1=]

+1 &’ \
0 534 AN 89‘0.»

10-2-4=C
6~4-2=0]
3+4-1=[]
6+3-4=[]
5+4+1=[]
y
3+3+4=[]
3+1+4=]
4+1+4=
7-2+4=]
9-3-4=]
5+1+4=[]




